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goo
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Q=523010000
P =510510n + 52301

2P + 1 = 2(510510n + 52301) + 1 = 1021020 + 104602 + 1 = 1021020n + 104603
0000010210200 20 2003,5,7,11,13,17000000 1000000

104603 = 29 x 3607 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 104603

gbooboobogobooboboobboobooobuooooboon

Q=523030000
P = 5105101 + 52303

2P + 1 =2(510510n + 52303) 4+ 1 = 1021020n + 104606 + 1 = 1021020n + 104607

0000010210200 20 2003,5,7,11,13,17000000 10000000

104607 =3 x 3 x 59 x 197 x 1

oooo
2P + 1 = 3(340340n + 34869)

gooooooo3soooooooooboooooboobooDbOoobboObDoobboUOoDboO
goo

Q=523070000
P = 510510n + 52307

2P + 1 =2(510510n + 52307) + 1 = 1021020n + 104614 + 1 = 1021020n + 104615

0000010210200 20 2003,5,7,11,13,17000000 10000000

104615 =5 x 7T x 7Tx 7x 61 x1

oooo
2P + 1 = 35(29172n + 2989)

oboooooosbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=>523130000
P = 510510n + 52313

2P + 1 =2(510510n 4 52313) + 1 = 1021020n + 104626 + 1 = 1021020n + 104627
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0000010210200 20 2003,5,7,11,13,17000000 1000000

104627 = 23 x 4549 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 104627

goboobooobooboboobboobbooboooboon

Q=523190000
P =510510n + 52319

2P + 1 = 2(510510n + 52319) + 1 = 1021020 + 104638 + 1 = 10210201 + 104639
0000010210200 20 2003,5,7,11,13,17000000 1000000

104639 = 104639 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 104639

gboobgobogobooboboobboobooobuooooboon

Q=523210000
P = 510510n + 52321

2P + 1 = 2(510510n + 52321) + 1 = 10210200 + 104642 + 1 = 10210200 + 104643
0000010210200 20 2003,5,7,11,13,17000000 10000000

104643 =3 x 3 x 7 x 11 x 151 x 1

oooo
2P + 1 = 231(4420n + 453)

oo0ooooboOo23i0gooooo0oo0oobooooogoboOobo0ooo0ooDooDoo
good

Q=523310000
P = 510510n + 52331

2P + 1 =2(510510n + 52331) + 1 = 1021020n + 104662 + 1 = 1021020n + 104663

0000010210200 20 2003,5,7,11,13,17000000 10000000

104663 = 13 x 83 x 97 x 1

oooo
2P + 1 = 13(78540n + 8051)
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Q=523330000
P = 510510n + 52333

2P + 1 =2(510510n 4 52333) + 1 = 1021020n + 104666 + 1 = 10210201 + 104667

0000010210200 20 2003,5,7,11,13,17000000 10000000

104667 = 3 x 139 x 251 x 1

good
2P + 1 = 3(340340n + 34889)

o00ob0ooO0oo030b00b0ooooooboobDooDobobob0obODobDobOoobOobDOobDOon
goo

Q=1523370000
P = 510510n + 52337

2P + 1 =2(510510n + 52337) 4+ 1 = 1021020n + 104674 + 1 = 1021020n + 104675

0000010210200 20 2003,5,7,11,13,17000000 10000000

104675 =5 x5 x H3 x 79 x 1

oooo
2P + 1 = 5(204204n + 20935)

goooooo0ds0U0b0O0bOOU0ODbOOU0OO0ODOU0UDOUODOUODOUODOODOUODOO
goo

Q=523570000
P =510510n + 52357

2P + 1 = 2(510510n + 52357) + 1 = 10210200 + 104714 + 1 = 1021020n + 104715
0000010210200 20 2003,5,7,11,13,17000000 10000000

104715 =3 x3 x5 x13x 179 x 1

ogooo
2P + 1 = 195(5236n + 537)

ooobobgooysooooooooooboboboooobooobobUoboboooDoooo
googd

Q=523610000
P = 510510n + 52361
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2P + 1 =2(510510n + 52361) + 1 = 1021020n + 104722 + 1 = 1021020n + 104723

0000010210200 20 2003,5,7,11,13,17000000 1000000

104723 = 104723 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 104723

gboboobogobogoboboobboobooobooooboon

Q=523630000
P = 5105101 + 52363

2P + 1 = 2(510510n + 52363) + 1 = 10210200 + 104726 + 1 = 10210200 + 104727
0000010210200 20 2003,5,7,11,13,17000000 10000000

104727 =3 x 7 x 4987 x 1

oooo
2P + 1 = 21(48620n + 4987)

goooooboOo21000b0000b0oboobooobooooDobDooDOobDOobooOoboOoobooO
good

Q=523690000
P = 510510n + 52369

2P + 1 = 2(510510n + 52369) + 1 = 10210200 + 104738 + 1 = 1021020n + 104739
0000010210200 20 2003,5,7,11,13,17000000 10000000

104739 = 3 x 34913 x 1

oooo
2P + 1 = 3(340340n + 34913)

oboobobooo3oboboboooooboboooobobUoboDoboDoboboobOobooooo
goo

Q=523730000
P = 510510n + 52373

2P + 1 =2(510510n 4 52373) + 1 = 1021020n + 104746 + 1 = 1021020n + 104747

0000010210200 20 2003,5,7,11,13,17000000 1000000

104747 =19 x 37 x 149 x 1
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2P 4+ 1 =510510m + 104747

gbobooobogobooboboobboobboooboooboon

Q=1523790000
P = 510510n + 52379

2P + 1 = 2(510510n + 52379) + 1 = 10210200 + 104758 + 1 = 10210200 + 104759
0000010210200 20 2003,5,7,11,13,17000000 1000000

104759 = 104759 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 104759

gboboobogobooboboobboobbooobuoonooboon

Q=>52387 0000
P = 510510n + 52387

2P 41 = 2(510510n + 52387) + 1 = 10210201 + 104774 + 1 = 1021020n + 104775
0000010210200 20 2003,5,7,11,13,17000000 10000000

104775 =3 x5 x5 x 11 x 127 x 1

0ooo
2P + 1 = 165(6188n + 635)

O000O0bOo0O1e5000000000000DOO0ODOODOODO0OO0DOODOODODODOODODn
good

Q=523910000
P =510510n + 52391

2P + 1 =2(510510n + 52391) 4+ 1 = 1021020n + 104782 + 1 = 1021020n + 104783

0000010210200 20 2003,5,7,11,13,17000000 10000000

104783 =7 x 14969 x 1

oooOo
2P + 1 = 7(145860n + 14969)

goooooogvyoUooOOoO0oOoO0OOoU0OOU0ODOOU0DODO0ODOOU0ODOOUODOODOOUODOO
goo
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Q=1523970000
P = 510510n + 52397

2P + 1 =2(510510n + 52397) 4+ 1 = 1021020n + 104794 + 1 = 1021020n + 104795

0000010210200 20 2003,5,7,11,13,17000000 10000000

104795 = 5 x 20959 x 1

oooo
2P + 1 = 5(204204n + 20959)

gboobobooosOobobUoboobobooboboboobobOobObDobDOobobOOobOobDOobDOoo
goo

Q=523990000
P = 5105101 + 52399

2P + 1 =2(510510n 4 52399) + 1 = 1021020n + 104798 + 1 = 1021020n + 104799

0000010210200 20 2003,5,7,11,13,17000000 10000000

104799 = 3 x 181 x 193 x 1

good
2P + 1 = 3(340340n + 34933)

g0oobOobooo30boboooooobobOooOoOobOobOobDobDobOoobOobOobDOoo
goo

Q=>524170000
P = 510510n + 52417

2P + 1 =2(510510n + 52417) + 1 = 1021020n + 104834 + 1 = 1021020n + 104835

0000010210200 20 2003,5,7,11,13,17000000 10000000

104835 =3 x5 x 29 x 241 x 1

oooo
2P + 1 = 15(68068n + 6989)

gooooooOoboobooOooobOoboobooUooUOoo0oDOobDOoOoDOobDOobDobooboOooo
googo

Q=>524210000
P = 510510n + 52421

2P + 1 =2(510510n + 52421) + 1 = 1021020n + 104842 + 1 = 1021020n + 104843
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0000010210200 20 2003,5,7,11,13,17000000 1000000

104843 = 59 x 1777 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 104843

gboobgobogobooboboobboobbooobooooboon

Q=>524270000
P = 5105100 + 52427

2P + 1 = 2(510510n + 52427) + 1 = 10210200 + 104854 + 1 = 1021020n + 104855
0000010210200 20 2003,5,7,11,13,17000000 10000000

104855 =5 x 67 x 313 x 1

oooo
2P + 1 = 5(204204n + 20971)

gboobobooosOoboboboobobooboboboobobOobUobDOobDOob0bOoOobOobDOobDOoo
goo

Q=524330000
P = 5105100 + 52433

2P + 1 = 2(510510n + 52433) + 1 = 1021020n + 104866 + 1 = 10210200 + 104867
0000010210200 20 2003,5,7,11,13,17000000 10000000

104867 =7 x 71 x 211 x 1

0ooo
2P + 1 = 7(145860n + 14981)

oooooooovoooooobobooooooobooooooobooOobObDOoOoooobObOBbOoOn
ooo

Q=524390000
P = 5105101 + 52439

2P + 1 =2(510510n 4 52439) + 1 = 1021020n + 104878 + 1 = 1021020n + 104879

0000010210200 20 2003,5,7,11,13,17000000 1000000

104879 = 104879 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 104879
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Q=>524410000
P = 510510 + 52441

2P + 1 =2(510510n + 52441) + 1 = 1021020n + 104882 + 1 = 1021020n + 104883

0000010210200 20 2003,5,7,11,13,17000000 10000000

104883 = 3 x 34961 x 1

oooo
2P + 1 = 3(340340n + 34961)

gooooooo3soooooooooboooooboobooDboobbOUDoOobboUOoDboO
goo

Q=524470000
P = 5105100 + 52447

2P + 1 =2(510510n + 52447) + 1 = 1021020n + 104894 + 1 = 1021020n + 104895

0000010210200 20 2003,5,7,11,13,17000000 10000000

104895 =3 x3x3x3xbxTx37Tx1

oooo
2P + 1 =105(9724n + 999)

oboobobgoobolesobooooooobooboboboobooooobOobUobUoboDooOoooo
good

Q=524530000
P = 5105101 + 52453

2P + 1 =2(510510n 4 52453) + 1 = 1021020n + 104906 + 1 = 10210201 + 104907

0000010210200 20 2003,5,7,11,13,17000000 10000000

104907 =3 x 11 x 11 x 17 x 17 x 1

ooono
2P + 1 = 561(1820n + 187)

Ooooooooseioboooooooooboooooooooboboooooooooobobbooo
oooo

Q=>524570000
P =510510n + 52457

2P + 1 =2(510510n + 52457) + 1 = 1021020n + 104914 + 1 = 1021020n + 104915
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0000010210200 20 2003,5,7,11,13,17000000 10000000

104915 = 5 x 20983 x 1

oooo
2P + 1 = 5(204204n + 20983)

ooobOobooos0b0b0bO0ob0U0o0b0bDobOoObO0obOobOOobDOobOOoOobUobDOobDOoo
goo

Q=524630000
P = 5105100 + 52463

2P + 1 = 2(510510n + 52463) + 1 = 1021020 + 104926 + 1 = 10210200 + 104927
0000010210200 20 2003,5,7,11,13,17000000 1000000

104927 = 317 x 331 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 104927

gboboobogobooboboobboobbooobuoonobaon

Q=524690000
P = 5105101 + 52469

2P + 1 =2(510510n 4 52469) + 1 = 1021020n + 104938 + 1 = 1021020n + 104939
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
104939 = 101 x 1039 x 1
o000 10210200 000000000000
2P +1 = 510510m + 104939

ooboobooobooboboobboobboobooobooo

Q=524710000
P = 510510n + 52471

2P + 1 =2(510510n + 52471) + 1 = 1021020n + 104942 + 1 = 1021020n + 104943

0000010210200 20 2003,5,7,11,13,17000000 10000000

104943 = 3 x 34981 x 1

oooo
2P + 1 = 3(340340n + 34981)
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goo

Q=>524770000
P =510510n + 52477

2P + 1 =2(510510n 4 52477) + 1 = 1021020n + 104954 + 1 = 1021020n + 104955

0000010210200 20 2003,5,7,11,13,17000000 10000000

104955 =3 x 5 x 6997 x 1

oooo
2P + 1 = 15(68068n + 6997)

o00o0o0O0ooolboooooooooboooobooobOooboobobooooDbOoboDbOoo
good

Q=52483 0000
P =510510n + 52483

2P + 1 =2(510510n 4 52483) + 1 = 1021020n + 104966 + 1 = 1021020n + 104967

0000010210200 20 2003,5,7,11,13,17000000 10000000

104967 = 3 x 3 x 107 x 109 x 1

oooo
2P + 1 = 3(340340n + 34989)

gooooooOo3oUobooooooobo0oOoU0bOoUbDOoUobOoUobbOUbDOoUobDboUDboO
goo

Q=524870000
P = 510510n + 52487

2P + 1 = 2(510510n + 52487) + 1 = 10210200 + 104974 + 1 = 1021020n + 104975
0000010210200 20 2003,5,7,11,13,17000000 10000000

104975 =5 x5 x 13 x17x19x1

oooo
2P + 1 =1105(924n + 95)

o0oobooblih0oboobooboooboooboobobobobooobUobobOoobOoo
googno

Q=52480 0000
P = 5105100 + 52489
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2P + 1 =2(510510n 4 52489) + 1 = 1021020n + 104978 + 1 = 1021020n + 104979

0000010210200 20 2003,5,7,11,13,17000000 10000000

104979 = 3 x 7 x 4999 x 1

oooo
2P 4+ 1 = 21(48620n + 4999)
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goog

Q=524990000
P = 5105101 + 52499

2P 41 = 2(510510n + 52499) + 1 = 10210201 + 104998 + 1 = 1021020n + 104999
0000010210200 20 2003,5,7,11,13,17000000 1000000

104999 = 104999 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 104999

goboobooobooboboobboobboobuoooboon

Q=525010000
P = 5105100 + 52501

2P + 1 = 2(510510n + 52501) + 1 = 1021020 + 105002 + 1 = 10210201 + 105003
0000010210200 20 2003,5,7,11,13,17000000 10000000

105003 =3 x 3 x 3 x 3889 x 1

oooo
2P + 1 = 3(340340n + 35001)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=525110000
P =510510n + 52511

2P + 1 =2(510510n 4 52511) + 1 = 1021020n + 105022 + 1 = 1021020n + 105023

0000010210200 20 2003,5,7,11,13,17000000 1000000

105023 = 105023 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 105023

gbobooobogobooboboobboobboooboooboon

Q=525170000
P =510510n + 52517

2P + 1 = 2(510510n + 52517) + 1 = 10210200 + 105034 + 1 = 1021020n + 105035
0000010210200 20 2003,5,7,11,13,17000000 10000000

105035 =5 x 7 x 3001 x 1

oooo
2P + 1 = 35(29172n + 3001)

go0oOdoOooOosooboboooobobooboooooooDooboobDobDOobooboOooo
googo

Q=525190000
P = 5105101 4 52519

2P + 1 = 2(510510n + 52519) + 1 = 1021020 + 105038 + 1 = 10210201 + 105039
0000010210200 20 2003,5,7,11,13,17000000 10000000

105039 =3 x 3 x 11 x 1061 x 1

good
2P + 1 = 33(30940n + 3183)

o0boobooo33boooooooooboboooboooboobooboboDoooboOoobOoo
good

Q=>525230000
P = 5105101 + 52523

2P + 1 =2(510510n + 52523) + 1 = 10210201 + 105046 + 1 = 1021020n + 105047

0000010210200 20 2003,5,7,11,13,17000000 1000000

105047 = 73 x 1439 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 105047

gboboobogobooboboobboobbooobuoonobaon
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Q=>525290000
P = 5105100 + 52529

2P + 1 = 2(510510n + 52529) + 1 = 10210200 + 105058 + 1 = 10210201 + 105059
0000010210200 20 2003,5,7,11,13,17000000 1000000

105059 = 31 x 3389 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 105059

gbooboobogobooboboobboobooobuooooboon

Q=525310000
P = 510510n + 52531

2P + 1 =2(510510n + 52531) 4+ 1 = 1021020n + 105062 + 1 = 1021020n + 105063

0000010210200 20 2003,5,7,11,13,17000000 10000000

105063 = 3 x 7 x 5003 x 1

oooo
2P + 1 = 21(48620n + 5003)

goooooboOo21000b0000b0obooboooooooDobDOooDOobDOobooboOooboO
good

Q=525370000
P = 510510n + 52537

2P + 1 =2(510510n + 52537) + 1 = 1021020n + 105074 + 1 = 1021020n + 105075

0000010210200 20 2003,5,7,11,13,17000000 10000000

105075 =3 x 3 x5 x 5 x 467 x 1

oooo
2P + 1 = 15(68068n + 7005)

oobooooooliboooobooooobobooobooboobooboboooobOoobOoo
good

Q=>525410000
P = 510510n + 52541

2P + 1 =2(510510n 4 52541) + 1 = 1021020n + 105082 + 1 = 1021020n + 105083
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0000010210200 20 2003,5,7,11,13,17000000 10000000

105083 = 11 x 41 x 233 x 1

oooo
2P 4+ 1 =11(92820n + 9553)

o0oobOoobolnoooooobO0oobOboOoo0bOOoo0bO0o0oboobUoboooobOoobOoo
good

Q=525430000
P = 510510n + 52543

2P + 1 = 2(510510n + 52543) + 1 = 1021020 + 105086 + 1 = 10210201 + 105087
0000010210200 20 2003,5,7,11,13,17000000 10000000

105087 = 3 x 23 x 1523 x 1

oooo
2P + 1 = 3(340340n + 35029)

gooooooOo3soUoboooooUooboo0OoOoU0bOoUbDOoUobOoUobbOUbDOoobDboUDboO
oono

Q=525530000
P = 510510n + 52553

2P + 1 = 2(510510n + 52553) + 1 = 1021020n + 105106 + 1 = 1021020n + 105107
0000010210200 20 2003,5,7,11,13,17000000 1000000

105107 = 105107 x 1
Ooooo 10210200 0000000000000
2P + 1 = 510510m + 105107

gooboobooobooboboobboobboobuooobooo

Q=525610000
P = 5105100 + 52561

2P + 1 =2(510510n + 52561) + 1 = 1021020n + 105122 + 1 = 1021020n + 105123

0000010210200 20 2003,5,7,11,13,17000000 10000000

105123 =3 x 67 x 523 x 1

oooo
2P + 1 = 3(340340n + 35041)
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goo

Q=525670000
P = 510510n + 52567

2P + 1 = 2(510510n + 52567) + 1 = 10210200 + 105134 + 1 = 1021020n + 105135
0000010210200 20 2003,5,7,11,13,17000000 10000000

105135 =3 x 5 x 43 x 163 x 1

oooo
2P + 1 = 15(68068n + 7009)

o00o0o0O0oOooboooboooboobOoooObO0oobDO0o0obO0o0obUoDoooDbOoboDbOoo
good

Q=>525710000
P = 5105100 + 52571

2P 4+ 1 = 2(510510n + 52571) + 1 = 10210201 + 105142 + 1 = 1021020n + 105143
0000010210200 20 2003,5,7,11,13,17000000 1000000

105143 = 105143 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 105143

gbbogbogobogbbgobbooboooobuoonobagn

Q=525730000
P = 510510n + 52573

2P + 1 =2(510510n + 52573) + 1 = 10210201 + 105146 + 1 = 1021020n + 105147

0000010210200 20 2003,5,7,11,13,17000000 10000000

105147 =3 x 3 x 7 x 1669 x 1

oooo
2P + 1 = 21(48620n + 5007)
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good

Q=525790000
P = 5105101 + 52579

2P + 1 =2(510510n 4 52579) + 1 = 1021020n + 105158 + 1 = 1021020n + 105159
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0000010210200 20 2003,5,7,11,13,17000000 10000000

105159 = 3 x 350583 x 1

good
2P + 1 = 3(340340n + 35053)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1525830000
P = 510510n + 52583

2P + 1 = 2(510510n + 52583) + 1 = 10210200 + 105166 + 1 = 10210201 + 105167
0000010210200 20 2003,5,7,11,13,17000000 1000000

105167 = 105167 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 105167

gboboobogobooboboobboobbooobuoonooboon

Q=525800000
P = 5105101 + 52589

2P + 1 = 2(510510n + 52589) + 1 = 10210200 + 105178 + 1 = 10210201 + 105179
0000010210200 20 2003,5,7,11,13,17000000 10000000

105179 = 17 x 23 x 269 x 1

oooo
2P +1 = 17(60060n + 6187)

gooooooOowwooooOooobOoboooooooooDoobDOooDOobDOobooboOooo
good

Q=525970000
P = 510510n + 52597

2P + 1 =2(510510n + 52597) + 1 = 1021020n + 105194 + 1 = 1021020n + 105195

0000010210200 20 2003,5,7,11,13,17000000 10000000

105195 =3 x 5 x 7013 x 1

oooo
2P + 1 = 15(68068n + 7013)

82



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=526010000
P = 5105101 + 52601

2P + 1 =2(510510n 4 52601) + 1 = 1021020n + 105202 + 1 = 1021020n + 105203

0000010210200 20 2003,5,7,11,13,17000000 10000000

106203 =7x 7 x19x 113 x 1

oooo
2P + 1 = 7(145860n + 15029)

o0obOooOOooOvy0oo00obOO0O0oO00o0obOO0oDOOobOO0oO0bOOobOODOOobODOobOO0oOobOobDOobDOn
goo

Q=1526030000
P = 510510n + 52603

2P + 1 =2(510510n 4 52603) + 1 = 1021020n + 105206 + 1 = 1021020n + 105207
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Q=>54487000 0
P = 5105100 + 54487

2P + 1 =2(510510n + 54487) + 1 = 1021020n + 108974 + 1 = 1021020n + 108975

0000010210200 20 2003,5,7,11,13,17000000 10000000

108975 =3 x 5 x 5 x 1453 x 1

oooo
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Q=>54491 0000
P = 5105100 + 54491

2P + 1 =2(510510n + 54491) 4+ 1 = 1021020n + 108982 + 1 = 1021020n + 108983

0000010210200 20 2003,5,7,11,13,17000000 10000000

108983 = 7 x 15569 x 1

oooo
2P + 1 = 7(145860n + 15569)
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Q=544930000
P = 5105100 + 54493

2P + 1 =2(510510n + 54493) + 1 = 1021020n + 108986 + 1 = 1021020n + 108987

0000010210200 20 2003,5,7,11,13,17000000 10000000

108987 = 3 x 17 x 2137 x 1

oooo
2P +1 = 51(20020n + 2137)
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Q=544970000
P = 510510n + 54497

2P + 1 =2(510510n + 54497) 4+ 1 = 1021020n + 108994 + 1 = 1021020n + 108995

0000010210200 20 2003,5,7,11,13,17000000 10000000

108995 =5 x 21799 x 1

oooo
2P + 1 = 5(204204n + 21799)
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Q=54499000 0
P = 5105101 + 54499

2P + 1 =2(510510n + 54499) 4+ 1 = 1021020n + 108998 + 1 = 10210201 + 108999
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Q=545030000
P = 510510n + 54503

2P + 1 = 2(510510n + 54503) + 1 = 1021020n + 109006 + 1 = 10210201 + 109007
0000010210200 20 2003,5,7,11,13,17000000 1000000

109007 = 61 x 1787 x 1
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2P 4+ 1 = 510510m + 109007
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Q=>545110000
P = 5105100 + 54511

2P +1 = 2(510510n + 54511) + 1 = 10210200 + 109022 + 1 = 1021020n + 109023
0000010210200 20 2003,5,7,11,13,17000000 10000000

109023 = 3 x 36341 x 1

oooo
2P + 1 = 3(340340n + 36341)
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Q=545170000
P = 510510n + 54517

2P + 1 =2(510510n + 54517) + 1 = 1021020n + 109034 + 1 = 10210201 + 109035

0000010210200 20 2003,5,7,11,13,17000000 10000000

109035 =3 x 3 x 5 x 2423 x 1

oooo
2P + 1 = 15(68068n + 7269)
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Q=54521 0000
P = 5105100 + 54521

2P + 1 =2(510510n 4 54521) + 1 = 1021020n + 109042 + 1 = 1021020n + 109043

0000010210200 20 2003,5,7,11,13,17000000 10000000

109043 = 11 x 23 x 431 x 1

oooo
2P + 1 =11(92820n + 9913)
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Q=>545200000
P = 510510n + 54529

2P + 1 =2(510510n 4 54529) + 1 = 1021020n + 109058 + 1 = 1021020n + 109059

0000010210200 20 2003,5,7,11,13,17000000 10000000

109059 = 3 x 36353 x 1

oooo
2P + 1 = 3(340340n + 36353)
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Q=545330000
P = 510510n + 54533

2P + 1 = 2(510510n + 54533) + 1 = 1021020n + 109066 + 1 = 10210201 + 109067
0000010210200 20 2003,5,7,11,13,17000000 10000000

109067 =7 x 15581 x 1
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2P + 1 = 7(145860n + 15581)
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2P + 1 =2(510510n + 54539) + 1 = 1021020n + 109078 + 1 = 1021020n + 109079
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109079 =19 x 5741 x 1
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2P 4+ 1 =510510m 4+ 109079
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Q=>545410000
P = 510510 + 54541

2P + 1 = 2(510510n + 54541) + 1 = 10210200 + 109082 + 1 = 1021020n + 109083
0000010210200 20 2003,5,7,11,13,17000000 10000000

109083 =3 x 13 x 2797 x 1

oooo
2P +1 = 39(26180n + 2797)
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Q=>545470000
P = 510510n + 54547

2P + 1 = 2(510510n + 54547) + 1 = 10210200 + 109094 + 1 = 1021020n + 109095
0000010210200 20 2003,5,7,11,13,17000000 10000000

109095 =3 x 5 x 7 x 1039 x 1

oooo
2P + 1 = 105(9724n + 1039)
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Q=545570000
P = 510510n + 54557

2P + 1 =2(510510n 4 54557) + 1 = 1021020n + 109114 + 1 = 1021020n + 109115

0000010210200 20 2003,5,7,11,13,17000000 10000000

109115 =5 x 139 x 157 x 1
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oboobobooosUOb0obUobOUobobo0obU0obDOobOUobObUOobUObDOobDOobObOobOobDOooOoo
goo

Q=54559 0000
P = 5105100 + 54559

2P 41 = 2(510510n + 54559) + 1 = 10210201 + 109118 + 1 = 1021020n + 109119
0000010210200 20 2003,5,7,11,13,17000000 10000000

109119 = 3 x 36373 x 1

good
2P + 1 = 3(340340n + 36373)
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Q=545630000
P = 5105100 + 54563

2P + 1 =2(510510n + 54563) + 1 = 10210201 + 109126 + 1 = 1021020n + 109127

0000010210200 20 2003,5,7,11,13,17000000 1000000
109127 =29 x 53 x 71 x 1
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2P 4+ 1 =510510m + 109127
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Q=545690000
P = 5105101 + 54569

2P + 1 =2(510510n 4 54569) + 1 = 1021020n + 109138 + 1 = 1021020n + 109139
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109139 = 109139 x 1
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2P 4+ 1 = 510510m + 109139
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Q=545770000
P =510510n + 54577

2P + 1 = 2(510510n + 54577) + 1 = 10210200 + 109154 + 1 = 1021020n + 109155
0000010210200 20 2003,5,7,11,13,17000000 10000000

109155 =3 x5 x 19 x 383 x 1

oooo
2P + 1 = 15(68068n + 7277)
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Q=>54581 0000
P = 5105100 + 54581

2P 41 = 2(510510n + 54581) + 1 = 10210201 + 109162 + 1 = 1021020n + 109163
0000010210200 20 2003,5,7,11,13,17000000 1000000

109163 = 173 x 631 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 109163
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Q=545830000
P = 510510n + 54583

2P + 1 =2(510510n + 54583) + 1 = 10210201 + 109166 + 1 = 10210201 + 109167

0000010210200 20 2003,5,7,11,13,17000000 10000000

109167 = 3 x 36389 x 1
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2P + 1 = 3(340340n + 36389)
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Q=>54589 0000
P = 510510n + 54589

2P + 1 =2(510510n 4 54589) + 1 = 1021020n + 109178 + 1 = 1021020n + 109179

186



0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=54599 0000
P = 510510n + 54599

2P 41 = 2(510510n + 54599) + 1 = 10210201 + 109198 + 1 = 1021020n + 109199
0000010210200 20 2003,5,7,11,13,17000000 1000000

109199 = 109199 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 109199
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Q=54601 0000
P = 5105101 + 54601

2P + 1 = 2(510510n + 54601) + 1 = 10210200 + 109202 + 1 = 1021020n + 109203
0000010210200 20 2003,5,7,11,13,17000000 10000000

109203 = 3 x 89 x 409 x 1

oooo
2P + 1 = 3(340340n + 36401)
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Q=546110000
P =510510n + 54611

2P + 1 =2(510510n 4 54611) + 1 = 1021020n + 109222 + 1 = 1021020n + 109223

0000010210200 20 2003,5,7,11,13,17000000 1000000

109223 = 239 x 457 x 1

o000 10210200 000000000000

2P +1 =510510m + 109223
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Q=546170000
P = 510510n + 54617

2P + 1 = 2(510510n + 54617) + 1 = 10210200 + 109234 + 1 = 1021020n + 109235
0000010210200 20 2003,5,7,11,13,17000000 10000000

109235 =5 x 7 x 3121 x 1

oooo
2P + 1 = 35(29172n + 3121)
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Q=546190000
P = 5105101 4 54619

2P + 1 = 2(510510n + 54619) + 1 = 10210200 + 109238 + 1 = 10210201 + 109239
0000010210200 20 2003,5,7,11,13,17000000 10000000

109239 = 3 x 13 x 2801 x 1
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2P + 1 = 39(26180n + 2801)
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good

Q=546230000
P = 5105100 + 54623

2P 4+ 1 = 2(510510n + 54623) + 1 = 10210201 + 109246 + 1 = 10210200 + 109247
0000010210200 20 2003,5,7,11,13,17000000 1000000
109247 = 107 x 1021 x 1
0000 10210200000000000000

2P +1 = 510510m + 109247
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P = 5105101 + 54629

2P + 1 =2(510510n + 54629) + 1 = 1021020n + 109258 + 1 = 10210201 + 109259
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109259 = 17 x 6427 x 1
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Q=546310000
P =510510n + 54631

2P + 1 = 2(510510n + 54631) + 1 = 10210200 + 109262 + 1 = 1021020n + 109263
0000010210200 20 2003,5,7,11,13,17000000 10000000

109263 =3 x 7 x 11 x 11 x 43 x 1

oooo
2P + 1 = 231(4420n + 473)
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Q=54641 0000
P = 5105100 + 54641

2P + 1 = 2(510510n + 54641) + 1 = 10210200 + 109282 + 1 = 1021020n + 109283
0000010210200 20 2003,5,7,11,13,17000000 1000000

109283 = 103 x 1061 x 1
oooo 10210200 000000000000
2P +1 = 510510m + 109283

ooboobooobooboboobboobboobooobooo

Q=546430000
P = 5105101 + 54643

2P + 1 =2(510510n + 54643) + 1 = 10210201 + 109286 + 1 = 1021020n + 109287

0000010210200 20 2003,5,7,11,13,17000000 10000000

109287 =3 x 3 x 12143 x 1

oooo
2P + 1 = 3(340340n + 36429)
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Q=>546470000
P = 510510n + 54647

2P + 1 =2(510510n 4 54647) + 1 = 1021020n + 109294 + 1 = 1021020n + 109295

0000010210200 20 2003,5,7,11,13,17000000 10000000

109295 = 5 x 21859 x 1

oooo
2P + 1 = 5(204204n + 21859)
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Q=>546530000
P = 510510n + 54653

2P + 1 =2(510510n 4 54653) + 1 = 1021020n + 109306 + 1 = 1021020n + 109307

0000010210200 20 2003,5,7,11,13,17000000 10000000

109307 =11 x 19 x 523 x 1

oooo
2P + 1 = 11(92820n + 9937)
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Q=54661 0000
P = 5105100 + 54661

2P + 1 = 2(510510n + 54661) + 1 = 10210200 + 109322 + 1 = 1021020n + 109323
0000010210200 20 2003,5,7,11,13,17000000 10000000

109323 =3 x 3 x 3 x 4049 x 1

ogooo
2P + 1 = 3(340340n + 36441)
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Q=546670000
P = 5105100 + 54667
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2P + 1 =2(510510n + 54667) + 1 = 1021020n + 109334 + 1 = 1021020n + 109335

0000010210200 20 2003,5,7,11,13,17000000 10000000

109335 =3 x 5 x 37 x 197 x 1

oooo
2P + 1 = 15(68068n + 7289)
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Q=546710000
P = 5105100 + 54671

2P 41 = 2(510510n + 54671) + 1 = 10210201 + 109342 + 1 = 10210200 + 109343
0000010210200 20 2003,5,7,11,13,17000000 10000000

109343 = 13 x 13 x 647 x 1

oooo
2P + 1 = 13(78540n + 8411)
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good

Q=>546730000
P = 510510n + 54673

2P + 1 = 2(510510n + 54673) + 1 = 10210200 + 109346 + 1 = 10210200 + 109347
0000010210200 20 2003,5,7,11,13,17000000 10000000

109347 =3 x 7 x 41 x 127 x 1

oooo
2P 4+ 1 = 21(48620n + 5207)
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Q=546790000
P = 5105101 + 54679

2P + 1 =2(510510n + 54679) + 1 = 1021020n + 109358 + 1 = 10210201 + 109359

0000010210200 20 2003,5,7,11,13,17000000 10000000

109359 =3 x 3 x 29 x 419 x 1
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Q=546830000
P = 5105100 + 54683

2P 4+ 1 = 2(510510n + 54683) + 1 = 10210201 + 109366 + 1 = 10210200 + 109367
0000010210200 20 2003,5,7,11,13,17000000 1000000

109367 = 109367 x 1

o000 10210200 000000000000

2P +1 = 510510m + 109367
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Q=54697 0000
P = 510510n + 54697

2P + 1 = 2(510510n + 54697) + 1 = 10210200 + 109394 + 1 = 1021020n + 109395
0000010210200 20 2003,5,7,11,13,17000000 10000000

109395 =3 x3xHx 11 x13 x17x1

ogooo
2P + 1 = 36465(28n + 3)
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Q=547010000
P = 510510n + 54701

2P + 1 =2(510510n 4 54701) + 1 = 1021020n + 109402 + 1 = 1021020n + 109403

0000010210200 20 2003,5,7,11,13,17000000 10000000

109403 = 7 x 15629 x 1

oooo
2P + 1 = 7(145860n + 15629)
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Q=>547070000
P = 510510n + 54707

2P + 1 = 2(510510n + 54707) + 1 = 10210200 + 109414 + 1 = 1021020n + 109415
0000010210200 20 2003,5,7,11,13,17000000 10000000

109415 =5 x 79 x 277 x 1

oooo
2P + 1 = 5(204204n + 21883)

gboobobooosOobobUoboobobooboboboobobOobObDobDOobobOOobOobDOobDOoo
goo

Q=547090000
P = 5105100 + 54709

2P 41 = 2(510510n + 54709) + 1 = 10210201 + 109418 + 1 = 1021020n + 109419
0000010210200 20 2003,5,7,11,13,17000000 10000000

109419 = 3 x 36473 x 1

good
2P + 1 = 3(340340n + 36473)
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Q=547130000
P =510510n + 54713

2P + 1 =2(510510n + 54713) + 1 = 10210201 + 109426 + 1 = 1021020n + 109427
0000010210200 20 2003,5,7,11,13,17000000 1000000
109427 =73 x 1499 x 1
o000 10210200 000000000000
2P 4+ 1 =510510m + 109427
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Q=>54721 0000
P = 510510n + 54721

2P + 1 =2(510510n 4 54721) + 1 = 1021020n + 109442 + 1 = 1021020n + 109443
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Q=>547270000
P = 5105100 + 54727

2P + 1 = 2(510510n + 54727) + 1 = 10210200 + 109454 + 1 = 1021020n + 109455
0000010210200 20 2003,5,7,11,13,17000000 10000000

109455 =3 x 5 x 7297 x 1
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2P + 1 = 15(68068n + 7297)
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Q=547310000
P = 510510n + 54731

2P + 1 =2(510510n + 54731) + 1 = 1021020n + 109462 + 1 = 1021020n + 109463
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000
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2P +1 = 17(60060n + 6439)
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Q=547370000
P = 5105100 + 54737

2P + 1 =2(510510n 4 54737) + 1 = 1021020n + 109474 + 1 = 1021020n + 109475

0000010210200 20 2003,5,7,11,13,17000000 10000000

109475 =5 x5 x 29 x 1561 x 1

oooo
2P + 1 = 5(204204n + 21895)
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Q=547390000
P = 5105100 + 54739

2P + 1 =2(510510n 4 54739) + 1 = 1021020n + 109478 + 1 = 1021020n + 109479

0000010210200 20 2003,5,7,11,13,17000000 10000000

109479 = 3 x 36493 x 1

good
2P + 1 = 3(340340n + 36493)

o00ob0ooO0oo030b00b0ooooooboobDooDobobob0obODobDobOoobOobDOobDOon
goo

Q=>547490000
P = 510510n + 54749

2P + 1 =2(510510n 4 54749) + 1 = 1021020n + 109498 + 1 = 1021020n + 109499

0000010210200 20 2003,5,7,11,13,17000000 10000000

109499 = 13 x 8423 x 1
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2P + 1 = 13(78540n + 8423)
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Q=>547510000
P = 5105100 + 54751

2P + 1 = 2(510510n + 54751) + 1 = 10210200 + 109502 + 1 = 1021020n + 109503
0000010210200 20 2003,5,7,11,13,17000000 10000000

109503 =3 x 3 x 23 x 23 x 23 x 1

ogooo
2P + 1 = 3(340340n + 36501)
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Q=547670000
P = 510510n + 54767

2P 41 = 2(510510n + 54767) + 1 = 10210201 + 109534 + 1 = 1021020n + 109535
0000010210200 20 2003,5,7,11,13,17000000 10000000

109535 =5 x 19 x 11563 x 1
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Q=>547730000
P = 510510n + 54773

2P + 1 = 2(510510n + 54773) + 1 = 1021020 + 109546 + 1 = 10210200 + 109547
0000010210200 20 2003,5,7,11,13,17000000 1000000
109547 = 109547 x 1
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2P 4+ 1 = 510510m + 109547
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2P + 1 =2(510510n 4 54779) + 1 = 1021020n + 109558 + 1 = 1021020n + 109559
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Q=>54781 0000
P =510510n + 54781

2P + 1 = 2(510510n + 54781) + 1 = 10210200 + 109562 + 1 = 1021020n + 109563
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2P + 1 = 17(60060n + 6667)
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Q=566710000
P = 510510n + 56671

2P + 1 = 2(510510n + 56671) + 1 = 1021020n + 113342 + 1 = 1021020n + 113343
0000010210200 20 2003,5,7,11,13,17000000 10000000

113343 =3 x 37781 x 1

ogooo
2P + 1 = 3(340340n + 37781)
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Q=566770000
P = 5105100 + 56677

2P + 1 =2(510510n + 56677) + 1 = 1021020n + 113354 + 1 = 1021020n + 113355

0000010210200 20 2003,5,7,11,13,17000000 10000000

113356 =3 x 3 x5 x 11 x 229 x 1

oooo
2P + 1 = 165(6188n + 687)

goooooboOoles0oboObOoO0O0DOOO0ODOUODOUODbOObDO0OOOOUODOUODOO
good

295



Q=1566810000
P = 510510n + 56681

2P + 1 = 2(510510n + 56681) + 1 = 10210200 + 113362 + 1 = 1021020n + 113363
0000010210200 20 2003,5,7,11,13,17000000 1000000

113363 = 113363 x 1
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2P 4+ 1 =510510m + 113363
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Q =56687 0000
P = 510510n + 56687

2P + 1 =2(510510n 4 56687) + 1 = 1021020n + 113374 + 1 = 1021020n + 113375

0000010210200 20 2003,5,7,11,13,17000000 10000000

113375 =5 x 5 x 5 x 907 x 1

oooo
2P + 1 = 5(204204n + 22675)
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Q=156689 0000
P = 510510n + 56689

2P + 1 =2(510510n + 56689) + 1 = 1021020n + 113378 + 1 = 1021020n + 113379

0000010210200 20 2003,5,7,11,13,17000000 10000000

113379 =3 x 7 x 5399 x 1

oooo
2P + 1 = 21(48620n + 5399)

obooboooobo21000oo0bo0o0ooobobooobooo0bo0obooboboooobOoobOoo
good

Q=1566990000
P = 510510n + 56699

2P + 1 =2(510510n 4 56699) + 1 = 1021020n + 113398 + 1 = 1021020n + 113399
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113399 =11 x 13 x 13 x 61 x 1

oooo
2P + 1 = 143(7140n + 793)
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Q=>567010000
P = 510510n + 56701

2P + 1 = 2(510510n + 56701) + 1 = 10210200 + 113402 + 1 = 1021020n + 113403
0000010210200 20 2003,5,7,11,13,17000000 10000000

113403 = 3 x 103 x 367 x 1

oooo
2P + 1 = 3(340340n + 37801)
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Q=>567110000
P = 510510n + 56711

2P + 1 = 2(510510n + 56711) + 1 = 10210200 + 113422 + 1 = 1021020n + 113423
0000010210200 20 2003,5,7,11,13,17000000 1000000

113423 =101 x 1123 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 113423
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Q=567130000
P = 510510n + 56713

2P + 1 =2(510510n + 56713) + 1 = 1021020n + 113426 + 1 = 1021020n + 113427

0000010210200 20 2003,5,7,11,13,17000000 10000000

113427 =3 x 3 x 3 x 4201 x 1

oooo
2P + 1 = 3(340340n + 37809)
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Q=567170000
P =510510n + 56717

2P 41 = 2(510510n + 56717) + 1 = 10210201 + 113434 + 1 = 1021020n + 113435
0000010210200 20 2003,5,7,11,13,17000000 10000000

113435 =5 x 7 x 7 x 463 x 1

oooo
2P + 1 = 35(29172n + 3241)
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Q=1567230000
P = 510510n + 56723

2P + 1 =2(510510n + 56723) + 1 = 1021020n + 113446 + 1 = 1021020n + 113447

0000010210200 20 2003,5,7,11,13,17000000 1000000

113447 = 41 x 2767 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 113447
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